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1 E=kisi 266 257 38
2 aEm 146 83 0
3 BE™ 20 11 0
4 LA™ 60 26 1
5 HAa™ 57 51 1
6 L EH 29 29 2
7 y=]=a k] 46 28 0
8 ZEIT 29 20 3
9 =Amh 17 17 2
10 K N 104 83 0
11 ERET 50 49 1
12 EvN=T 28 27 0
13 N ] 159 71 11
14 EA/M 37 22 1
15 B ERT 21 19 0
16 t o EHT 18 12 1
17 KA JR BT 15 11 2
18 A ET 13 7 1
19 S ET 29 18 0
20 JI T 40 18 0
21 AUFRET 33 16 0
22 BT 20 15 0
23 L JTHT 13 12 0
24 IN=Tiigy 30 29 0
25 + 4 JEHT 24 8 0
26 ) FF BT 133 14 0
27 RAOET 27 19 0
28 KIEBHET 11 7 0
29 wNIEN] 30 8 1
30 BHRET 15 10 0
31 JIES) 35 22 0
32 BAHT 10 8 0
33 EEBH 35 16 1
34 Zz) || HT 6 5 0
35 Fg — [T 7 5 0
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